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https://www.100test.com/kao_ti2020/159/2021 2022 2004 E5 B9
B4 E7 87 95 ¢70 159992.htm Directions: For each numbered
blank in the following passage, there are four choices marked A, B, C
and D. Choose the best one. Passage 1Industrial safety does not just
happen. Companies 1 low accident rates plan their safety programs,
work hard to organize them, and continue working to keep them 2
and active. When the work is well done, a 3 of accident-free
operations is established 4 time lost due to injuries is kept at a
minimum. Successful safety programs may 5 greatly in the emphasis
placed on certain aspects of the program. Some place great emphasis
on mechanical guarding. Others stress safe work practices by 6 rules
or regulations. 7 others depend on an emotional appeal to the
worker. But, there are certain basic ideas that must be used in every
program if maximum results are to be obtained. There can be no
guestion about the value of a safety program. From a financial
standpoint alone, safety 8 . The fewer the injury 9, the better the
workman’ s insurance rate. This may mean the difference between
operating at 10 or ata loss.1. A. atB. InC. onD. with2. A. aliveB.
vividC. mobileD. diverse3. A. regulationB. climateC.
circumstanceD. requirement4. A. whereB. howC. whatD. unless5. A.
alterB. differC. shiftD. distinguish6. A. constitutingB. aggravatingC.
observingD. justifying7. A. SomeB. ManyC. EvenD. Still8. A. comes
offB. turns upC. pays offD. holds up9. A. claimsB. reportsC.
declarationsD. proclamations10. A. an advantageB. a benefitC. an
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